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* The images and the pictures in this lecture
are provided by the CDs accompanied by

the books
1. University Physics, Bauer and Westfall,

McGraw-Hill, 2011.
2. Principles of Physics, Halliday, Resnick,
and Walker, Wiley, 8t and 9t Ed.

* The rest is made by me.



Double slit diffraction
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Example

A =405 nm, d=19.44 pm, a = 4.050 ym
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Width of diffraction pattern
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Dispersion vs. resolving power
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X-ray ditfraction:
Bragg’s law

Maximum  2dsinf) = mA (m=1,2,3,---)
condition
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Screen

Central fringe

(a) Without the glass slide
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(b) With glass slide
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Problem

White light 400 nm < A < 750 nm
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Irradiance
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Single-Slit and Two-Slit Irradiance Distribution
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